

Tabulation of Bids

Page 1 of 3

Contract ID: 23440 Counties: STATEWIDE

Letting Date: March 30, 2023

Call Order: 440

Project(s): N/A

Contract Time: 04/30/24 COMPLETION DATE Min: Max:

Contract Description: MTN MVB & TUNNEL REP 2023

Line No / Item ID Item Description		(1) IEW CONSTRUCTION GROUP, INC.		(2) MOUNT CONSTRUCTION CO., INC.				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 BRIDGE		BRIDGE		Cat Alt Set:		Cat Alt Member:		
0001	109006M	5,297,960.000	1.00000	5,297,960.00	1.00000	5,297,960.00		
FORCE .	ACCOUNT	DOLL						
0002	152015P	1.000	15,000.00000	15,000.00	1,286.00000	1,286.00		
POLLUT	ION LIABILITY INSU	RANCE DOLL						
0003	151006M	1.000	65,000.00000	65,000.00	1.00000	1.00		
	RMANCE BOND AND IT BOND	DOLL						
0004	MMG010M	14,400.000	1.00000	14,400.00	1.00000	14,400.00		
TELEPH	ONE SERVICE	DOLL						
0005	MMB172M	7,560.000	460.46000	3,481,077.60	614.00000	4,641,840.00		
LANE CI	OSURES	HOUR						
0006	MMB173M	50,000.000	1.00000	50,000.00	1.00000	50,000.00		
SOLID WASTE DISPOSAL DOLL								



Tabulation of Bids

Page 2 of 3

Contract ID: 23440 Counties: STATEWIDE

Letting Date: March 30, 2023 District(s): H4

Call Order: 440 Project(s): N/A

Contract Time: 04/30/24 COMPLETION DATE Min: Max:

Contract Description: MTN MVB & TUNNEL REP 2023

Line No / Item ID Item Description			(1) IEW CONSTRUCTION GROUP, INC.		(2) MOUNT CONSTRUCTION CO., INC.			
Alt Set	/ Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 BRIDGE			Cat Alt Set:		Cat Alt Member:			
0007	MMB092M	4,224.000	105.00000	443,520.00	105.00000	443,520.00		
CREW CC	OORDINATOR	HOUR						
8000	MMB022M	8,448.000	282.25000	2,384,448.00	320.50000	2,707,584.00		
REPAIR C	CATEGORY "A", MOVA	ABLE HOUR						
0009	MMB024M	2,112.000	257.64000	544,135.68	250.00000	528,000.00		
REPAIR C	CATEGORY "B", MOVA	ABLE HOUR						
0010	MMB026M	8,448.000	276.26000	2,333,844.48	330.00000	2,787,840.00		
WELDING CREW HOUR								
0011	MMB142M	3,000.000	25.00000	75,000.00	25.00000	75,000.00		
MANPOWERED ACCESS MACHINE HOUR								
0012	MMB044M	1,000.000	265.00000	265,000.00	150.00000	150,000.00		
60' UNDERBRIDGE INSPECTION HOUR UNIT								



Tabulation of Bids

Page 3 of 3

Contract ID: 23440 Counties: STATEWIDE

Letting Date: March 30, 2023 District(s): H4

Call Order: 440 Project(s): N/A

Contract Time: 04/30/24 COMPLETION DATE Min: Max:

Contract Description: MTN MVB & TUNNEL REP 2023

Line No / Item ID Item Description		(1) IEW CONSTRUCTION GROUP, INC.		(2) MOUNT CONSTRUCTION CO., INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 BRIDGE		Cat Alt Set:		Cat Alt Member:			
0013 MMG025M	300,000.000	1.00000	300,000.00	1.00000	300,000.00		
OVERTIME DIFFERENTIAL	(OD) DOLL						
Section Totals:	:	\$15,269,385.76	:	\$16,997,431.00			
Co		\$15,269,385.76		\$16,997,431.00			
Cost		\$15,269,385.76		\$16,997,431.00			

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 440 Contract ID: 23440 Counties: STATEWIDE

Letting Date: March 30, 2023 10:00 AM District(s): H4

Contract Time: 04/30/24 COMPLETION DATE

Contract Description: MTN MVB & TUNNEL REP 2023 Project(s): N/A

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	IEW CONSTRUCTION GROUP, INC.	\$15,269,385.76	100.00%
2	MOUNT CONSTRUCTION CO., INC.	\$16,997,431.00	111.32%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.